s
v
T

@t

5 i 3

— HIRT UM R < BOHREE=F Y > 7HR —

W BR BRI E (BB 1 2 B

i3

12818 %17

1T/ HRHKEXS
=k EBEE82—1116

F125

BG40 —A )L u Sv) /BFfE(h)

mx | R | 9/27 |10/25]11/25 mx | R | 9/27 |10/26]11/25 mx | R | 9727 |10/26]11/25 S s g = = +
G E*$$%Fﬁ 0.16/0.16]0.12 %1 & FEHREEFREL5—]0.65[0.64]0.72 " L3 (X S5 & iy 0.48[0.45]0.45 W/ \yFRiRER BEAIE#HRE
R E BERESEES 0.17[0.19]0.14 A X & F i E 2 4%—|0.55/0.60[0.55 EFXRERBAMNRE 0.39[0.42]0.37 BE: RESUTITH
EAERE|E E/\Eﬁﬁ*"/\ﬁﬁ 0.19[0.20[0.14 E 2 RIEHRT—ILEIES 0.85[0.86]0.82 | PERERM 0.69/0.72]0.74] MWBIEHRE 8H30AMNSIA0BETHI2HM
A KAKZEMES 0.19[0.18]0.15 ¥ 3 X|EFRILEBEEFREL5—|0.54|0.60]0.48 FEFIR BMEHR=XE[0.78[/0.78]0.77] Mxt R F i1FiE OmHAOLHEIFLEEITORESE
G EE T 0.18[0.18]0.10 E 4 R[EEAmEHAR 0.88[0.75]0.66 = R | AIBESFR 0.19[0.18]0.18 — EE) HRERNEE
I NETINESR 0.17/0.18]0.13 %5 X 2 NEmE R 0.84[0.79]0.80 N MEE 00 0.17[0.15]0.13 Hh X O AEEH | MEFHIE
- RIEESFT 0.20[0.17]0.12 EiE300 S B kM EEREEm|1.10(1.17|1.13 = R M| BREERFR 0.22[0.22|0.23 _ _ (A) ID=NTS)
I ETEEES ) 0.25[0.27]0.17 - AEERtA— 0.71]0.65]0.66 = R t[EXFESFR 0.27(0.27]0.27] [ERFTHE 696 605 0.03
@ 2 B —/IESFR 0.19[0.20]0.14 EE288 8 iR N B BR[| 0.55)0.52]0.54 = R h[ERHERRR 0.20[0.19]0.18] [|KHETEHEB 716 489 0.03
B BERTER 0.15/0.13[0.09] |&|E 7 R|&HBRTHEE 0.41[0.34]0.31 n R e 0.21[0.21]0.20] |BHETHEB 302 275 0.05
B X N[ERIZ2=F > 5— [0.13[0.14[0.11] |, 4 x| BB 2 EI3 AR A 0.34[0.33]0.39 'gj' T HELTAREE 0.15[0.15]0.14] [EEFHB 734 628 0.05
& T|ERKEE 0.17[0.21]0.11] |BT e IVERGER(T1/28)| — "]0.85[0.80] |g [ L[ EBS EISEREAT 0.16]/0.16[0.14| |MEITEHE 3,052 2,399 0.05
G L E TGN 0.13[0.16]0.10 RS R OHEESmR11/20| — |0.53]0.50 X BKBLEfSE 0.17[0.15]0.14] | & | 5,500] 4,396] 0.04
K F|E-FUF DR 0.17[0.20[0.14 % 9 R[FE4Y)—nHRHEI(11/28) — [0.78]0.65 & W GRBELRARE 0.18[0.18]0.20]  SHIERS L, AR EA RO i 2> TV ET,
A 5 B 1@ 4R 5 KI5 0.21[0.20]0.16 EFES5(11/28) — l0.64]0.56 A  WABELEHERFHR 0.18[0.18]0.19] MHBREEE 0.09ZU>—ARJLRUT 956 %
A B 2| AgEERFR 0.20[0.21]0.16 10X AAREFHEL 42— [0.35/0.34[0.33 #  EHEARESE 0.17[0.18]0.17 01~0193JL—ANJLk 43 %
B[R AKE 0.19[0.19]0.12 BB/ BRESF 0.50[0.44]0.42 F [ERAREE 0.18[0.18]0.18 0.2~0.3931JL—A~)Lk 0.1 %
b B EERAR 0.20[0.22]0.15 511K mZ EMFEtL 89— [0.69[0.63]0.59 KX EABEARE 0.19[0.19]0.18] @M EIL. MAMADITE, BiEEIc Lo CTRAVET,
% H|ERESFR 0.17[0.18]0.13 E%FR)—2n9RE [0.61]0.69]0.62 E H[EBR 031](029]0.31| @2EIED 47BN VEILFIA10A T,
A E 0.17[0.19]0.13 510K E;E SE2EILOER  [1.03[1.01]0.80 ®  U[EAHERFR 0.32[0.31]0.28 o[ B OSSR % | (RHEHE~HIARELITITETT,
T | FHEESAT 0.17[/0.17]0.14 FJ=R=5%®% 0.69[0.80]0.65 M HEANERARSE 0.50[0.48]0.46] @1A7537%T. &iiRALICHESLE (HRZ) 2 EmLET,
WK | Ho % | 9/27 [10/26]11/25 [0 K | o % EZIRZENES | B SleHES T EneX,r EAE[0.27]0.27]0.27]  @217530 £T. 185 FO MR HUR I 4 J6L -,
= R|BAERHIERFR 0.20[0.19]0.17 5 R[IBSR/IEREME 0.15[0.14]0.13
RBITHR 0.19[0.17]0.18 N OR[INRAREE 0.16[0.14]0.14 2 3 -
=8 W K HESHH 0.18[0.17]0.19 — B 15> F4ER 1 BEE 0.24[0.21]0.21 g {Ei@ Fﬁ‘yﬁﬂﬁ: L-j b)f.
h BBAZENESHT 0.15/0.16]0.16 "lMEIE2550F wEfEE| — [0.15]0.15] 128 % 0);%;1?#%%0);‘1&%1‘%&@5?-3( FUERLET,
B xS s EHFENEES[0.16[0.17]0.19 N E]Tif-‘rs#*’* i 0.20(0.19]0.20 BRHERZSO-EEYVORSEEAEERETIH . TRICKYIEL-EBEMEFESL TZEL,
3t KRR 52— 0.14[0.15]0.16 MBITSUF RREE — 10.08]0.09
m P /NESF 0.13[0.13]0.14 h o E|PEARE 0.17[0.17]0.17 Z 1S (SHEEEREIBLE9.00~11:.00£T) 2. MREEYE N HBIRIEKELET,)
S Jﬁ,rmﬁi 0.14/0.15[|0.14 ~  mAUARE 0.21/0.20[0.20 Z{tH RE 3 FR5 OTATEEINT-E/EM(1.5kgll E)
= S| AJIEBR>JB%  |0.18{0.17[0.16 waTh RREE —"lo-70j016 12/12 (A) | ERET£E EIRARE OTARDEAICHT SZHFK-5IZKA5LLLE)
H  HHEZEMXRt%— [0.20[0.20]0.16 ¥  Er|BEATH&R 0.16/0.16]0.15 12/13 (K) | KBET2E | BEZZS5DHILE
E | XK#EsmERmEt-4—[0.18]0.17]0.17 +  gEBS1-Av g [0.27]0.26[0.26 12/14  (OK) | #RERET &1 ZBERAITEBUD
B | EmZEMXnt 3—0.16/0.14]0.14 B OE REEE =6 7094 12/15 (k) | REmMZE | XIEDOEREED
HE | o BEINZERES | [T E[TEARE 0.21]0.19]|0.22 12/16 (&) | MESIETZE M52 REE
MERE S 0.20[0.19]0.17 & W [BLZENERA 0.28[0.27]0.27
FEENEEE TG 0.14[0.15]0.15| |m|E W 2|FLEHARE 0.33|0.34|0.34] 3. BREHBLIUBREHERIZONT
T E sl 0.34[0.32]0.30] |3I|xx =[x siRRAT 0.29[0.28]0.27 ® REHIIEHTT,
A HAGHESH 0.28|0.29[0.24] |¥T|7 #H|EHZENESH 0.37[0.37]0.35 Z O THERIHIBALZ2W =0, 5 B (B2 U CLERLIN) HIEEE DB TRASELET,
® M P AP E ST 0.23[0.24]0.19 B X 1|ZELHERR 0.28[0.30]0.26
mHLe—gEEnEeLsEA0 (023023025 B X 2pAMXEEMESAH  [0.31|0.33]0.27] 4. EEYEFHLALLEDTES
B | EELERAT 0.27[0.26]0.22 B X JBEN=RAEMHE 0.28|0.28]0.25 OFEHIATLRTIC %?&%ﬁfgﬁ/\‘éﬁu@ﬂ( EFE T TLEE,
A RAREHRESH 0.38[0.40[0.40 E N BENBHEAREE 0.31[0.33]0.30 @/%of_ﬂfﬁtr@%@Tif_ 3% — LI HLATY L Tt =— L85 AN, BESH - IRE TS
# B E|FREERAR 0.30[0.28]0.24 M EMEARESE 0.46[0.40]0.37 LTSN, 3% (LT Kb — IR D L TLIEEW)
EEES aﬁ’\&ﬁﬁ&% 8 0.19]/0.18]0.16 X EB|XEZEMNESR 0.38/0.44]0.38 @RIEIZIX, ACAYIIZUTZBEM N 1.5kg LA E VBT,
N W/MELES 0.15[0.17]0.14 EE RS 0.46[0.47]0.45 @ IAT EAEM I . B AL L QU o B0 Ed, GEENILEEA)
B &I E#EJIIE%FE 0.24[0.26]0.25 & R|ARmEZBEMESR [0.38]/0.37[0.35 £ B ORI H B L OS2 B SELEE N,
£ H[EBRESF 0.19[0.14[0.17 B HIRAT 0.31[0.32]0.30 GKIE. LU LT~ MRML I =— LRI AN TS L TSN,
2 Jl[ENEERELF— 0.24]0.21]0.21 £ B|XAENZRE 0.73|0.75]0.74
H RlBRESRAH 0.21[0.25]0.29 FEAREE 0.74]0.75]0.74] 5. #Mih
EENREILRSE 0.49]0.46]0.44 - IEBEHIZ2=T475%(0.51|0.47]0.44 OZOREZE L RE DT T HIRAEFRDT — &R A, 7T —# L T ILTEEFADT
W AR ZAANLREED 0.46/0.54]0.56 CIREBRARE 0.46|0.45]|0.42 TTRSZED, (AIEMEIFZHBEEL TRIROHNTIZEN)
e 0.43]0.52]0.46 B BFsIHEAREE 0.44]0.49]0.48 QT ZOWET —FEHIXFICSHZEEL TARTLHTETT,




